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Note :  Answers may be written either in English or in Hindi; but the same medium should be

used throughout the paper.
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| “The question paper is divided into two parts.
Attempt five questions in all.
selecting at least nvo questions from each part.
All questions carry equal marks.
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Part 1
ECILEE

What is opportunity cost 7 Suppose you have an exam tomorrow and are planning (o
étudy tonight. Your friend calls to tell you that he has an extra ticket for 101;ight's football
match that he-will give to yvou (for free). What is your opportunity cost of sceing the
match ? Now suppose you are scheduled to work tonight at your part time job (no
exam tomorrow). What is the opportunity cost of seeing the match in this situation ?

Explain why. 5

Differentiate positive economics from normative economics and microeconomics from

macroeconomics with examples. 4

The following table describes the production possibilities of two cities :

City Loaf of Bread per worker No. of shirts per worker
per hour ' per hour

Dcllhi 16 8

Goa 12 4
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Without trade what is the price of a shirt (in terms of bread) in Delhi and in

Goa.

Which city has an absolute advantage in the production of bread and shirt ? Which

city has comparative advantage in the production of bread and shirt ?

Wil trade between these cities be beneficial for both of them ? If yes then which

city will specialize in which commodity 2 24242
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- Suppose a technical invention reduces the cost of making mobile handset. With the help

of demand and supply curves, show equilibrium price and quantity and consumer and
producer surplus in the market for mobile handsets before and after the technical

invention. _ 7

Define price and income elasticity of demand. Explain various determinants of price elasticity
of demand ? If two consumers, Anish and Babita have a fix pattern of petrol consumption.
despite all the changes in the price of petrol, every week Anish spends Rs. 500 on petrol
and Babita purchases 10 litres of petrol. What is each consumer’s price elasticity of

demand ? 2+4+2
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Explain how a ‘binding price ceiling’ is different from “not biriding price ceiling’. Which
causes a deficiency of a good a price ceiling or a price floor ? What are the adverse

effects of rent control ? 3+2+4

If a government places a Rs. 5,000 tax on luxury cars, will the price paid by consumers
rise by more than Rs. 5,000, less than Rs. 5,000 or exactly equal to Rs. 5,000 ?

Explain. 6
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(a) Explain how Deadweight Loss and Tax Revenue vary with the size of a Tax. 7

() What is tariff ? With th.e help of don1c§tic demand and supply curves show the change
in cor_lsumer and producer surplus, Government revenue and the deadweight loss because
of tariff. 8
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Part 11

(M 1)

(a) Explain four components.of GDP with an example of each. 8

(6)  Suppose an economy produces 2 goods, Food and Cloth. Given the following information

on production and prices of Food and Cloth for year 1 and 2 : 142+242
Production Price per Unit
Q Q, P, P,
. -(Yegr ) . (Year 2) (Year 1) (Year 2)

Food 12 22 10 8
Cloth 16 | 8 2 10

(1) What is the percentage change in nominal GDP between year | and

~year 2 7
(i)  What is Lhé percentage change in real GDP between year | and year 2 ?
(iify  Estimate the inflation rate on the basis of above data using year 1 as base
year.
(iv)  Define and compute.GDP Deflator.
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Explain why the GDP is a good measure of economic well being but not the perfect

measure of well being. 8

Ilustrate the problems associated with consumer price index that make it an imperfect

measure of the cost of living. 7
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What are commodity and fiat money ? Is our present money in circulation in India a

commodity or the fiat money ? Explain various functions of money. 7

What is discount rate ? Explain what happens to the money supply when the central
bank raises the discount rate ? Also explain how the central bank increases the money

supply with open market operations. _ 8
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(@) Elucidate how, according to Fisher effect, an increase in the rate of inflation affect the

real interest rate and the nominal interest rate ? 7

(b) Suppose people were expecting the 4 percent inflation in the economy, but actually the
-prices rise by 7 percent. [llustrate how this unexpected high inflation would help or hurt

the following :

(N The govemmcnt_

(i) .A person who has taken a loan at fixed rate of interest.
(iii) A worker in second year of labor contract.

(iv)* A person who invested in bonds with fixed return. 8
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